ITEM NO. DESCRIPTION

12365 Jacket with Bottom and Door Frame ........ 0c00eveenn
12366 A Top with 6" Smoke Outlet .......ciiiiiiiiiininnnnnn.
12127 Logs TOABNY o ov oo svsdeusnn i sewesanss @D gsess s
13104 Smoke Baffle for Top of Fill Door opening with

Hinge Rod and Cotter Pin .....ciuiiuniiiiinninnnnn.
13105 Double Smoke Baffle ....cccccvevso@m® T
14043 Firebrick Liner (Set) .cceosssiss i sNoaasus s bossses sassi
12700 Firabrick [Dear BIEEE) coomnes 5 sn NONGD s wrwsims « o fieignms s o s
12140 Angles -to hold Firebrick (pPaled™\Yscsowissssosssmnvessa
14022 B Metal Outer Grate for Wood . ...iiiiiiiiiiiiiinnnnnnns
13062 C Cast lron Center Grate with Shaker Arm .............
13057 Grate SHaker .. .cidaiaoRe s s isshaasesiis ke Cosiasmneas
12222 Shaker Handle ......iitiiiniiineeiitieteeeeennnnnnnnnns
13102 Door for Wood complete with Thermostat, Gasket, and

LAateh HABAIe . om Nl oara iban gadesnesnss Kesmenss o s
12466 Door for Wood/Coal with Gasket less Thermostat,

Démpelr Baffle dnd Lateh  ..cssvassessssonmsninnass
12155 Door Hinges for Door Frame (pair) ..............cou..
12136 D Deooe Latch HEmWMe with Rolers .cicuvsoenes posmss s saas s
12713 Latch RBodd €MSRING .osvvinisisanadiussnass savosssaass s
12130 E Catch forr Mdor Latch ....ccccieveccecccncescnccsncnnes
12550 /8" Capolde¥ Rope (pér foot) .::sveicicassissvnnsassanuss
14049 5/8" QAslet Rope (per door) ......cccececvncncss 5
12148 F Bi-metal Thermostat with Mounting Rod ...............
12770 G AdQsTing Kriob for Thermestat ...ocesvsss vevasvaessss
12774 Adjusting Screw for Thermostat - Brass ..............
12859 H Reund Decal for Thermostat .....ccivvsinssssnvicnsscosns
12128 | Cover Tor Thermostat «ccveisiss susawvnseis veeaenins §ses
12070 Metal Screws to mount Thermostat Cover (each) ......
12456 Information Flip Cover with Nameplate ................
12131 Shenandoah Die Cast Nameplate with Fasteners ........
12469 J Braft Damper PIBte ...crvvs ssam somconvmeens neomeems s 55 = »
12458 Draft Damper Baffle $or Wood .. .ososevsnssssvnsssanuss
12166 BEmper BINGE 555545 ssdeaeisiss s 5S4 00nnEs satvpaassn ¥
12500 Gotler Pin for Damper ...sssscs asssownean & svomanms 638
127712 K Damper Link, Thermostat to Damper ....sssswessisss s

12364 AN PR oo ised btss sEEpdaRnid d i LEsAEuRasd | BETREHR S EE 5



ITEM NO. DESCRIPTION

12702 Furnace Cement (1/2 pint) ..oivvsvonevn N s sssasas
80060 1/4 x 1/2 Bolt with Nut .......:ccccecod™\Nisscsssosas
90063 174 x 5/8 Bolt with NUt .iciccsssssngmNSosssnsssss s
90072 1/4 % 3/4 Bolt with NUt :.iosisesiaduaovsnissssssss
90073 1/4 % 1 Bolt With NUE .o s v s ve o adwasvessss 56y e
91968 Shen-glow Black Spray Paint (each) .................
91969 Shen-glow Black Spray Paint (case of 12) ...........

PARTS FOR R-65C COAL MODELS

12467 Door for Coal complete with Thermostat, Gasket, and

Latel Handle ..ol dNE s s s 506 4 0 i s seemos e @
12466 Door for Wood/Coal with Gasket less

Thermostat, Damper Baffle and Latch .............
12468 Draft Damper BapRl&Xolr Coal ..ciissssisvssscisavivani
12304 DNy GOME TORNREE] couauvl s vnmmpanin ¢ 5 owiEsie e
12305 Contor Grate With DUmp Grate ..:issiissincosssasions
12238 it 0 acld REORE BIHEK . .cous i o ssmmemsseaisse v

PARTS FOR 75-B BLOWER

13455 Houstpty for (9=B BloWer . sseecseovwssvevesnsanasass
13459 S0 b g - o T T
13460 EER Notint PIRRR  ;u . i e g smaaimis raee @ i messmisasaeis
12791 Variabla Speed CoRtrol .osvasesmascaii i vs vsoaeamaes
12792 Plastic Knob for Speed Control .......cciiiiieiieann.
12785 Fan for Blower (ach) .cossmsssasmamss s vs sapsmswass
12952 € Ft. Cord With PlHg ..cevscos snnsasmnssenmnemessins

12585 Plastic Bushing for Cord .ecsecssveovvens s ¢ powsvesseas





